#### South Ayrshire Council

#### Transfers Report

This report contains the transfers results.

Contest Name

Ward 3 - Ayr North

Valid Votes

Positions to be Filled

Quota

4,922

4

985

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Laura BRENNAN-WHITEFIELD	Scottish National Party (SNP)	1,914
Ian CAVANA	Scottish Labour Party	1,185
lan DAVIS	Scottish Conservative and Unionist	675
Mark DIXON	Scottish National Party (SNP)	344
Mason GRAHAM	Scottish Liberal Democrats	80
David PATERSON	Scottish Conservative and Unionist	336
Andrew RUSSELL	Independent	309
Denise SOMMERVILLE	Alba Party for independence	79
	Tot	al 4,922

Candidate Laura BRENNAN-WHITEFIELD Elected with 1,914 votes, being in excess of the quota of 985 Candidate Ian CAVANA Elected with 1,185 votes, being in excess of the quota of 985

This report contains the transfers results.

# Stage 2 - Surplus of Laura BRENNAN-WHITEFIELD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian DAVIS	25	0.48537	12.13425
Transfer to Mark DIXON	1,650	0.48537	800.86050
Transfer to Mason GRAHAM	22	0.48537	10.67814
Transfer to David PATERSON	12	0.48537	5.82444
Transfer to Andrew RUSSELL	36	0.48537	17.47332
Transfer to Denise SOMMERVILLE	23	0.48537	11.16351
No further preference	146	0.48537	70.86402
Not transferred due to rounding			0.00182
	Total		929.00000

This report contains the transfers results.

# Stage 3 - Surplus of Ian CAVANA

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian DAVIS	169	0.16877	28.52213
Transfer to Mason GRAHAM	277	0.16877	46.74929
Transfer to David PATERSON	48	0.16877	8.10096
Transfer to Andrew RUSSELL	117	0.16877	19.74609
Transfer to Denise SOMMERVILLE	28	0.16877	4.72556
No further preference	546	0.16877	92.14842
Not transferred due to rounding			0.00755
	Total		200.00000

This report contains the transfers results.

# Stage 4 - Surplus of Mark DIXON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian DAVIS	10	0.13963	1.39630
Transfer to Mason GRAHAM	40	0.13963	5.58520
Transfer to David PATERSON	8	0.13963	1.11704
Transfer to Andrew RUSSELL	52	0.13963	7.26076
Transfer to Denise SOMMERVILLE	56	0.13963	7.81928
Transfer to Ian DAVIS	38	0.06777	2.57526
Transfer to Mason GRAHAM	207	0.06777	14.02839
Transfer to David PATERSON	20	0.06777	1.35540
Transfer to Andrew RUSSELL	180	0.06777	12.19860
Transfer to Denise SOMMERVILLE	327	0.06777	22.16079
No further preference	178	0.13963	24.85414
No further preference	878	0.06777	59.50206
Not transferred due to rounding			0.00728
	Total		159.86050

This report contains the transfers results.

## Stage 5 - Exclusion of Denise SOMMERVILLE

124.86914

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian DAVIS	3	1.00000	3.00000
Transfer to Mason GRAHAM	7	1.00000	7.00000
Transfer to David PATERSON	1	1.00000	1.00000
Transfer to Andrew RUSSELL	24	1.00000	24.00000
Transfer to Mason GRAHAM	5	0.48537	2.42685
Transfer to Andrew RUSSELL	11	0.48537	5.33907
Transfer to Mason GRAHAM	5	0.16877	0.84385
Transfer to David PATERSON	2	0.16877	0.33754
Transfer to Andrew RUSSELL	9	0.16877	1.51893
Transfer to Ian DAVIS	1	0.13963	0.13963
Transfer to Mason GRAHAM	7	0.13963	0.97741
Transfer to David PATERSON	2	0.13963	0.27926
Transfer to Andrew RUSSELL	16	0.13963	2.23408
Transfer to Ian DAVIS	4	0.06777	0.27108
Transfer to Mason GRAHAM	59	0.06777	3.99843
Transfer to David PATERSON	1	0.06777	0.06777
Transfer to Andrew RUSSELL	74	0.06777	5.01498
No further preference	44	1.00000	44.00000
No further preference	7	0.48537	3.39759
No further preference	12	0.16877	2.02524
No further preference	30	0.13963	4.18890
No further preference	189	0.06777	12.80853
Not transferred due to rounding			0.00000
	Tatal		404.00044

Total 124.86914

This report contains the transfers results.

## Stage 6 - Exclusion of Mason GRAHAM

172.28756

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian DAVIS	12	1.00000	12.00000
Transfer to David PATERSON	9	1.00000	9.00000
Transfer to Andrew RUSSELL	26	1.00000	26.00000
Transfer to Ian DAVIS	5	0.48537	2.42685
Transfer to Andrew RUSSELL	8	0.48537	3.88296
Transfer to Ian DAVIS	32	0.16877	5.40064
Transfer to David PATERSON	19	0.16877	3.20663
Transfer to Andrew RUSSELL	112	0.16877	18.90224
Transfer to Ian DAVIS	3	0.13963	0.41889
Transfer to David PATERSON	1	0.13963	0.13963
Transfer to Andrew RUSSELL	22	0.13963	3.07186
Transfer to Ian DAVIS	31	0.06777	2.10087
Transfer to David PATERSON	13	0.06777	0.88101
Transfer to Andrew RUSSELL	111	0.06777	7.52247
No further preference	40	1.00000	40.00000
No further preference	14	0.48537	6.79518
No further preference	119	0.16877	20.08363
No further preference	21	0.13963	2.93223
No further preference	111	0.06777	7.52247
Not transferred due to rounding			0.00000
	<b>+</b>		470.00750

Total 172.28756

This report contains the transfers results.

# Stage 7 - Exclusion of David PATERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ian DAVIS	292	1.00000	292.00000
Transfer to Andrew RUSSELL	16	1.00000	16.00000
Transfer to Ian DAVIS	4	0.48537	1.94148
Transfer to Andrew RUSSELL	1	0.48537	0.48537
Transfer to Ian DAVIS	32	0.16877	5.40064
Transfer to Andrew RUSSELL	7	0.16877	1.18139
Transfer to Ian DAVIS	5	0.13963	0.69815
Transfer to Andrew RUSSELL	1	0.13963	0.13963
Transfer to Ian DAVIS	12	0.06777	0.81324
Transfer to Andrew RUSSELL	9	0.06777	0.60993
No further preference	38	1.00000	38.00000
No further preference	7	0.48537	3.39759
No further preference	30	0.16877	5.06310
No further preference	5	0.13963	0.69815
No further preference	13	0.06777	0.88101
Not transferred due to rounding			0.00000
	Total		367.30968